4.5

P-linear trend <0.0001

100

P-linear trend <0.0001

Type 1

Type 2
C8s

Other

No diabetes

Type 1 Type 2 Other No diabetes

4 ., 90
3 2
8 3.5 ® g0
- =)
@ T
E 3 S 70
[S)
g S 60
3 2.5 S
@ , *8' 50
C
% g 40
< 15 &
o E 30
o
>
= ! S 20
b (]
& S
c 0.5 10
(]
S o 0
Type 1 Type 2 Other No diabetes Type 1 Type 2 Other No diabetes
C6S c8
1.6
P-linear trend <0.0001 = P-linear trend <0.0001
_, 24 b 155
3 <
©
& 23 ‘S
o < 15
© 2
c 22
2 2
o o 1.45
- C
@21 o
c (o]
] = 14
g k3
(@]
] C
£ 19 & 1.35
9 =
% 18 13
(]
=

c9




